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Question No. 1

& 718 Tplc H et Fger 82

A) B)

C) 16 D)

How many triangles are there in the givenfigure?

A) B) 12
24
C) D)
16
20
Answer Key : D Your Response : D (Correct)

Question No. 2




3 WA #, TF FuT & & Trwd R aw §) 3w Teaw§ (off) & g S afes w7 @ wed 3ugeEd &

HYeT.

3FAIGERT F 27 & 32 a§ A 3 F gar Feiarr AR Brareher ger @R

s
. 27 W ¥ FA A F ARA FoitareT 741 g gl

I. 32 a¥ & 3w Ay & afFa Iar 7+ @ €
A)Faer sy | 3ugeEd Bl B)ar ar foyseny | 3R & & 1l 3ugerd gl

C)Fael forsehy Il 3ugad 3 D)alEl fosehy | 3R 11 39gera g

In this question, a statement is given followed by two conclusions. Choose the conclusion(s) which best fit(s)
logically.

Statement:
Candidates should be young, energetic and dynamic in the age group of 27 to 32 years.

Conclusions:
I. Persons below 27 years are not energetic.
Il. Persons above 32 years are not young.

A)Only conclusion | follows B)Neither conclusion | nor |l follows
C)Only conclusion Il follows D)Both conclusions | and Il follow
Answer Key : B Your Response : B (Correct)

Question No. 3

e 'ROPE' & 6821 for@r Srar &, 3K 'CHAIR' & 73456 for@r Siram &, df 'CRAPE' & @ forar Semn?
A)77246 B)76421
C)77123 D)73456

If 'ROPE' is coded as 6821 and 'CHAIR' is coded as 73456, then what will be the code for 'CRAPE'?

A)77246 B)76421
C)77123 D)73456
Answer Key : B Your Response : B (Correct)

Question No. 4

et



3 WA #, TF FUT & & Tw§ R aw §) 3w ewd (6ff) # g S afFE w9 @ wed 3uged &

HYeT.

T5 g & 3 § 3R o & g wdw anee e e uw g s #

forsent:

|. F& Sl T Fg gear e e g

Il. & @l Fr I8 gferr gl er 2

A)ait fashy | 3 11 3ugeFd gl B)Faa oy | 3ugerd gl
Cyar o fasshy | 41 & Il 3ugFd gl D)daer sy || 3ugerd g

In this question, a statement is given followed by two conclusions. Choose the conclusion(s) which best fit(s)
logically.

Statement:
This world is neither good nor evil; each man manufactures a world for himself.

Conclusions:
I. Some people find this world good.
Il. Some people find this world bad.

A)Both conclusions | and Il follow B)Only conclusion | follows
C)Either conclusion | or Il follows D)Only conclusion Il follows
Answer Key : A Your Response : Not Answered

Question No. 5
W FIfaw: 0.004 x 0.5
A)0.02 B)2
C)0.2 D)0.002

Simplify: 0.004 x 0.5

A)0.02 B)2
C)0.2 D)0.002
Answer Key : D Your Response : D (Correct)

Question No. 6

tafel T & GWEd G@RT 3c9ew tafar it gergfed T FHgarr 82
Mo Do T s W s o e e




Repetition of sound produced by reflection of sound waves is called-

A)Noise B)Note
C)Double D)Echo
Answer Key : D Your Response : D (Correct)

Question No. 7
T FAAIT RS & MR 16 530S w0l arer e @t §1 s e oem 17 s §1 suer SR
Farg A RS
A)12 B)15
C)30 D)25

The base of a right pyramid is a square with diagonal 16 units. Its slant edge is 17 units. What is its vertical
height?

A)12 B)15
C)30 D)25
Answer Key : B Your Response : Not Answered

Question No. 8

STt & 3% GATGIOT & W Geell & MCATT I AT Fgl SAar &2

INECIRIE B)sTeiteir
C)FTsHCIdlSIT D)u=cIATd TSI

The study of relationship of animals with their environment is called-

A)Ecology B)Ethology
C)Climatology D)Entomology
Answer Key : A Your Response : A (Correct)

Question No. 9
SIq B Wohe Ao, olf o & @y AR wwar §, o afr aws arg W fAsor @ar g1 @e
frafaf@a # & sl & JRer 32

A)3rqges 3ifafsRar B)Taret 3ifafeRar

C)uahel faeemTer 3ifafsRar D)gfafawendsr fafsmar

When copper sulphate solution reacts with iron metal, copper metal is formed. Which of the following
reactions is this?

A)Decomposition reaction B)Combination reaction
C)Single displacement reaction D)Double displacement reaction
Answer Key : C Your Response : A (Wrong)

Question No. 10

TEAH -2, R & & 3gaene e g Harser (DRDO) @rr il v gl

A)EaT ¥ gaT H AR el dlell fAarse B)&ech dofel aTell ATl

C)ATeTd I oIsTk ITeT D) RS &R

Rustom-2 is a/an developed by India's Defence Research and Development Organisation
(DRDO).
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Answer Key : C Your Response : Not Answered

Question No. 11

& 3K ar st T 3ureufa & gele @ TARA El

AT B)TelreAT

C)JahTer Fair D)fdega

The Sun and the stars glow because of the presence of in them.
A)Gases B)Plasma

C)Light energy D)Electricity

Answer Key : B Your Response : A (Wrong)

Question No. 12

IFRIT 7 IFHERST & Rgia Fr @ & ¢ = [AuiRT fFar ar?

A)gEr & gregar B)IrSTl & #he #H el &I el
C)STesT & f3alssr & 3rgerom D)uegesl & fSSlIgel hr faerom

What did Archimedes determine after discovering the Archimedes principle?

A)Purity of milk B)Purity of gold in the king's crown
C)Design concept of ship D)Design concept of submarine
Answer Key : B Your Response : C (Wrong)

Question No. 13
ISRO & 2019 #F A=fafd & ¥ fBFT e & AT 3iaReT 359 Hg TR Far &2
A)SRTeT® B)deeTs

B=]

C)oss D)gedreTe

In which of the following cities has ISRO launched Human Space Flight Centre in 2019?

A)Bengaluru B)Chennai
C)Mumbai D)Hyderabad
Answer Key : A Your Response : Not Answered

Question No. 14

fArfaf@d Aot # Ui 3BT Tog A AT i

VA, ND, (.), DP, BY
A)TU B)SE
C)HI D)NR

Find the missing group of alphabets in the following series.

VA, ND, (...), DP, BY
A)TU B)SE
C)HI




A ik APwT e aRdy FgafRa e & e §2
A)eTaredT B)g#eT 3T &g
C)3vsA IR fAsER D)EEEI

Amindivi and Minicoy are parts of which Indian Union Territory?

A)Lakshadweep B)Daman and Diu
C)Andaman and Nicobar D)Chandigarh
Answer Key : A Your Response : Not Answered

Question No. 16

rfaf@d Rt #F e & 9¢ 3R T e 50 e #r 3caw &I

35 aFd- A, B,C,D,E,F, G3R H wF #Afder & v o gk AT W g M AN A5 A R §1 A G
& o8 3N gAY T W doT § S B & a1 3R e TR 9« 337 81 D, F & 915 3R q@y T W Jor ¢
S GIATAF S F a1 81 C, B AT E & 91 7 8T o1 &l

B & &/ ¥1% 3K ST Jor 82
AH B)D
C)E D)C

Read the following information carefully and answer the question given below.
Eight friends—A, B, C, D, E, F, G and H are sitting around a circular table for a meeting facing center. A is
second to the right of G who is third to the right of B. D is second to the left of F who sits between Gand A. C

is not a neighbour of B or E.

Who is to the immediate left of B?

AH B)D
C)E D)C
Answer Key : A Your Response : A (Correct)

Question No. 17
1031 gRaaie IIRTET yeeielr iR Teee "SfEar F7 2018" Fa aew 7 mfora e = ar?
A)SieTenrdr B)fewelr
C)dreets D)Has

In which city was the 10th Biennial International Exhibition and Conference “India Chem 2018” held?

A)Kolkata B)Delhi
C)Chennai D)Mumbai
Answer Key : D Your Response : Not Answered

Question No. 18
farfaf@a & & fFasr 37T ToRlgagad (FIGH) 9 & fRRar ST 82
A)AAATT B)wdeter
C)wdairer [ e i e e T Y

RS RMENEG T Sreti A e Ve




A)Methanol B)Ethanol
C)Propanol D)Butanol

Answer Key : B Your Response : B (Correct)

Question No. 19

3 WA A, & FYAl & a1g o sy R aw §1 37 sy 31 v g S aiffher s § weifte sugeEd &

T
1) &% Fel, AFsey €

2) S AFGl, deeT T8 gl

forshy:

|. P e, et 78 1

II. T AFae, g §

A)aael forssy | 3uged g B)am ar fashd | & € 1l 3uged g
C)dhaet fasay Il 39ged g D)ersr fasey | 3R Il 3ugeFa €

In this question, two statements are given followed by two conclusions. Choose the conclusion(s) which best
fit(s) logically.

Statements:
1) All flowers are candles.
2) No candle is lantern.

Conclusions:
I. No flower is lantern.
II. All candles are flowers.

A)Only conclusion | follows B)Neither conclusion [ nor Il follows
C)Only conclusion Il follows D)Both conclusions | and Il follow
Answer Key : A Your Response : A (Correct)

Question No. 20
fArT aRE F F ST W Fg TWHR G@RT o9, T fRar o AR Sere 3@r @ ar?
A) H-TTsTEd B)&IdRT
C)l¥ 3 W & D)AARSIT &

Which of the following taxes was levied, collected and retained by the Central Government?

A\l anAd ravianiiae



Question No. 21

Siferre i WaATOaerar = §?

A) T THATIS B)sguRATIH

C)gfa AT D) IeRATIH

What is the atomicity of Helium?

A)Mono atomic B)Polyatomic

C)Di atomic D)Tri atomic

Answer Key : A Your Response : A (Correct)

Question No. 22
ar WA aEBIT B $.200 FAH HY T F 9°r ST §, 9 & o W 10% T e 8, fhed gt W 10%
& gifer gl Bl Y e g1 ar omT AT Ao
A)1% @1 B)2% et
C)2% @ifer D)1% gifer

Two identical items are sold for Rs.200 each, with 10% gain on one but 10% loss on the other. What is the net
percentage loss or gain?

A)1% gain B)2% gain
C)2% loss D)1% loss
Answer Key : D Your Response : A (Wrong)

Question No. 23
T o F FRT aTw wfetor A, Ig 9T TR F 50% T A dAHS GANK 9T 9ed &, 40% Wler B AR
FAMER 99 95d &, AR 20% 7 @ FAERK 99 A 9ed ¢ 3R 7 §f ¥HER 99 B gd g1 IR A 3K B, g
HAMR 99 9geT alel SAfdadr hr &A1 500 8, af fraer oeir i wdfator fram = ar?

A)7000 B)3000

C)4500 D)5000

In a survey conducted in a locality, it was found that 50% read newspaper A, 40% read newspaper B, and 20
% read neither A nor B. If the number of persons who read both A and B is 500, then how many persons were
surveyed?

A)7000 B)3000
C)4500 D)5000
Answer Key : D Your Response : Not Answered

Question No. 24

et & @ il @1, AeEH & uedca 7 Rl eafy er F o AUt gielet o arerr WA §7
A) 3T B)eReT &4

C)3mafea D)37Tad el

c

Which of the following is the time taken for one complete oscillation of a sound wave in the density of the

medium?
A)Amplitude B)Wavelength
C)Frequency D)Time period
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el Tea &7 RA] wHiw, Wi ¥ Hisg Y §& F SO S

Azt 3R st B) =gt

C)gererelel D)drer=it

Atomic number of an element is equal to the number of ___in the nucleus.
A)Electrons and protons B)Neutrons

C)Electron D)Protons

Answer Key : D Your Response : D (Correct)

Question No. 26

ofE 1§ wf¥r 20 a6t & 4 77 & e § & R s # &7 A
Fraw?

A) B)

15% 20%

C) D)

13%% 10%

If a sum becomes 4 times in 20 years what is the rate of simple interest

given?
A) B)
15% 20%
C) D)
1.,
13=% 10%
3
Answer Key : A Your Response : A (Correct)

Question No. 27

Pt & @ e @ A Ru o d@eer @ a8 ald & qob Fem?

FDA : MKH :: QOL : ?
A)XSV




Which of the following will best complete the relationship given below?

FDA:MKH :: QOL:?

A)XSV B)SVX
c)Quz D)XVS
Answer Key : D Your Response : D (Correct)

Question No. 28
I GEHR Ile Tl Gger SR Feaier Pl A2
AT, F. Tl B)Jerdilery SoRTH
C)Aelel FHell D)sitater g

Who was the first Indian footballer to receive the Arjuna Award?

A)P.K. Bannerjee B)Tulsidas Balaram
C)Sailen Manna D)Jarnail Singh
Answer Key : A Your Response : Not Answered

Question No. 29
3 ¥ RS g arelr 3 3 $r fhaer §E&Iw 87
A)98 B)100
C)97 D)99

How many 3 digit numbers are divisible by 37

A)98 B)100
C)97 D)99
Answer Key : This Question is dropped and

Your Response : B
will not be consider during the evaluation

Question No. 30
SiaTer AAEr & S i A A R gIm Ar?
A)SUTZE TSHTAGETSAC B)uRf s
C)AYUTSel JSHSAC D)yAfRTH meaRRET

Gas leaked during Bhopal tragedy was-

A)Ethyl isothiocyanate B)Potassium isothiocyanate
C)Methyl isocyanate D)Sodium isothiocyanate
Answer Key : C Your Response : C (Correct)

Question No. 31
Tor Iy T R & 7 9fg 2
A)TT B)dmfecd

(4

C)afrer D)IBEEay




C)Music D)Painting

Answer Key : D Your Response : Not Answered

Question No. 32
T Hd AE WR & Feded iR srewee % v RfFci-aeph (@Gifser-deme) & w=r §?
A)rar Afger B)faeeryor
C)3ifeTersr D)3ffercal

What is the medico-legal name given to the dissection and study of a dead human body?

A)Causa medico B)Analysis
C)Autolepsy D)Autopsy
Answer Key : D Your Response : D (Correct)

Question No. 33

Aoft 3 ot il

0.7, 0.75, 0.85, 1, (.)
A)1.2 B)1.6
C)1.8 D)1.1

Complete the series.

0.7,0.75,0.85, 1, (...)

A)1.2 B)1.6
C)1.8 D)1.1
Answer Key : A Your Response : A (Correct)

Question No. 34
frrafaf@a ¥ & @l @ arg ot A mad arolr 7 Hgg T gohr g 872
A) T ATIH B) s
C)ers e D)HAITH

Which of the following metals is the lightest in the periodic table of elements?

A)Aluminium B)Lithium
C)Titanium D)Magnesium
Answer Key : B Your Response : A (Wrong)

Question No. 35

.1
qﬁ;xézs, 't F AR AT AT




A) B)

123 128

C) D)

119 14

- 4 1
If x % =3, then find the value of x™ +—.
- =

A) B)
123 129
0) D)
119 14
Answer Key : C Your Response : C (Correct)

Question No. 36

THART T e T Rt % & Rt o W@ w9

18 - 5 x 50 = 40
A)-! X, = B)X’ = -
C):’ - X D)X’ - =

Choose the correct order of signs from the options so as to make the equation correct.

18-5x50=40

A)-, X, = B)x, =, -

C)=, -, x D)x, -, =

Answer Key : D Your Response : D (Correct)

Question No. 37

e FEIEN @RS




The Fiber Grid internet system was introduced by which Chief Minister in India?

A)Manohar Parrikar B)Raman Singh
C)Chandrababu Naidu D)Arvind Kejriwal
Answer Key : C Your Response : Not Answered

Question No. 38

R T Ygell ISCT 3GATT HisT AT AT?
A)SH Fidc I 3T B)ahlegl USET 3Tl
C)&SIRET ISE T 36T D) IS 3eATeT

Which was India’s first National Park?

A)Jim Corbett National Park B)Kanha National Park
C)Kaziranga National Park D)Gir National Park
Answer Key : A Your Response : Not Answered

Question No. 39
Ag R Reged 3R wat B o 82
ATE & fY 9T B)3fid
C)weligT(spleen) & I D)ARETSS & dof W

Where is the pituitary gland located in the human body?

A)On the top of kidneys B)In the intestine
C)Near the spleen D)At the base of the brain
Answer Key : D Your Response : D (Correct)

Question No. 40
24 93 Far$ 3R 1 el A T WS do F AT F vgEa aewEl F7 EaT 96m 1 AT HiaRkw v
e B & et A s
A)7 T B)5 T+
C)4 &#Y D)3 T+

Volume of material used in constructing a hollow cylinder of height 24 cm and thickness 1 cm is 961. What is
the sum of the internal and external radii?

A)7 cm B)5 cm
C)4 cm D)3 cm
Answer Key : C Your Response : C (Correct)

Question No. 41

@ 1w fawent 7 & 3rdera @ ol
A)OQS B)WYZ
C)PRT D)HJL

Find the ODD one out from the given options.
A)OQS B)WYZ

C)PRT D)HJL

Amcirmw U mes o D



I q ST AT gl AT I@Fd F T Hr AT Fr RID™T Far &2
A)TEgIoleT B)eEIENT

=

C)tRratafa D)ggfoleT

Which hormone regulates the amount of sugar in human blood?

A)Estrogen B)Testoterone
C)Parathormone D)Insulin
Answer Key : D Your Response : D (Correct)

Question No. 43
X3 + 5x2 - 2x - 24 T UH YrAF X = 2 §| 3T YAF AT AT
A)-3, -4 B)-3, 5
C)-2, -3 D)3, 4

X3 + 5x2 - 2x - 24 has a zero at x = 2 . Find the other zeros.

A)-3, -4 B)-3,5
C)-2, -3 D)3, 4
Answer Key : A Your Response : Not Answered

Question No. 44
I tan a = 1/2, tan B = 1/3 & a + B & AT A HFSAT
A)0° B)45°
C)90° D)135°

If tan a = 1/2, tan B = 1/3, then find a + B.

A)0° B)45°
C)90° D)135°
Answer Key : B Your Response : Not Answered

Question No. 45

"R ARG HT il Flel dl Tgo SATed HieT A?
A)HETCHT el B)aNfdg SeersT U
C)TRER TodHHS gcol D)feeT $a

Who was the first person to observe 'Individual Satyagraha'?

A)Mahatma Gandhi B)Govind Ballabh Pant
C)Sardar Vallabhbhai Patel D)Vinoba Bhave
Answer Key : D Your Response : Not Answered

Question No. 46
AR & s AUa0r & v Arafaf@a & @ s 39Aler &Far a1 dar g7
Ao B)#eigH
C)degfaar DD.D. T

]

Which of the following can be used for biological control of mosquitoes?




Question No. 47

6 HHAT TSI ATl HHAYCHST F STl T HITAT?

A) B)

1083 THE 645 THE

C) D)

54./3 WAL 79./3 TH?

Whatis the area of a regular hexagonof side 6 em?

A) B)
108'\/’3_ cm? 64«,/37 em?
0) D)
54+/3 cm® 7924/3 cm?
Answer Key : C Your Response : Not Answered

Question No. 48
P, Q, R 3RS, Rl & #r 20 feat & qu ¢ whd &1 afG P 3R Q e 0 50 ot & qu ¢ ook &
3R R 3rFem 5% 60 foe & qU FT WwhaT B, A S I W e &t F @ W wwHr 82
A)60 B)75
C)65 D)90

P, Q, R and S can do a piece of work in 20 days. If P and Q together can do it in 50 days, and R alone in 60
days, then in how many days can S alone do it?

A)60 B)75
C)65 D)90
Answer Key : B Your Response : B (Correct)

Question No. 49
S U §&T 234 ¥ fonfora gl &, dr A9ser 36 S9ar §1 39 96 #r 13 ¥ Jufod e W ANhT T
em?




A number when divided by 234 gives the remainder 36. What will be the remainder when it is divided by 13?

A)6 B)11
C)9 D)10
Answer Key : D Your Response : D (Correct)

Question No. 50
A 3R B T 39T 4 : 3 ¥ 6 a¥ a1, A Fr 3y 26 a¥ el B Fr acHreT 3y Rhae 87
A)12 B)18
C)15 D)9

A's age : B's age is 4 : 3. After 6 years, A will be 26 years. What is B's present age?

A)12 B)18
C)15 D)9
Answer Key : C Your Response : C (Correct)

Question No. 51
et gfaed =1 RWae sias arer gga AR sidr fest Sl 42
AR [T B)F=ATRr I
C)9#de D)H=AlgY 37T

Who was the first Indian bodybuilder to win the Mr.Universe ftitle?

A)Moloy Roy B)Monotosh Roy
C)Prem Chand D)Manohar Aich
Answer Key : B Your Response : Not Answered

Question No. 52
ATg AR H 95 S arell 98 THAE R Fler Ar 8, S At B W S AL el 82
A)Sftst B)gfafes
C) 3 Hac=r D)ffRRE®

Which is the only muscle in the human body that is NOT attached at both the ends?

A)Tongue B)Biceps
C)Adductor D)Triceps
Answer Key : A Your Response : Not Answered

Question No. 53
AT e F BRE AT & WIS Al F AR F9 S 872
A)FFR B)&vuTarfer(Pinna)
C)#aur df3er(Auditory nerve) D)Fuies!l Breel(Tympanic membrane)

Which part of the human ear vibrates according to the sound received?

A)Hammer B)Pinna
C)Auditory nerve D)Tympanic membrane
Answer Key : D Your Response : Not Answered

Question No. 54

o I e 1 O I e



When a three quarter moon is visible, what is it called?

A)Half moon B)Crescent moon
C)Full moon D)Gibbous moon
Answer Key : D Your Response : B (Wrong)

Question No. 55
g T 9ET @7 1/7, TEAT W HErRT SIan &, O IR T ¥ 30 F {ar §1 &A1 AT e
A)120 B) 140
C)210 D)105

If 1/7 of a number is subtracted from the number, the result is 30 less than the number. Find the number.

A)120 B)140
C)210 D)105
Answer Key: C Your Response : C (Correct)

Question No. 56

—t—t——t——t—— ...+
1x2 2x3 3x4 4xb 5x6 9x10

T AT AT hITAT|

A) B)

9/10 5/11

) D)

2/5 1/10

1 1 1 1 1 1

¥ e e S N R S
Find the value of %9 9x3 "3xa  axp Bx6 9x10

A) B)

9/10 5/11
0) D)

2/5 1/10

Answer Key : A Your Response : D (Wrong)

_ V4




Find the ODD one out from the given options.

A)9 B)13
C)7 D)11
Answer Key : A Your Response : A (Correct)

Question No. 58
(22%x3Fx5x7),(22x3x%x5x7) 3K (2 x3x5x7) & AHILCM) AT HIfaw]
A)7200 B)8400
C)9000 D)6300

Findthe LCMof (22x 32x5x7),(22x3x52x7)and (2x 3% 5 x 7).

A)7200 B)8400
C)9000 D)6300
Answer Key : D Your Response : D (Correct)

Question No. 59
w fAREd Hewmr &, ITNIETAM' &Y 'INTIMATE' for@r Sirar &1 38 gesmst & 'TREVNIETARBI' I & foarar
STT?
A)INVERTIBARTE B)INVERTIBRATE
C)INVERTIBRETA D)INVRETIBRATE

In a certain code, 'I'TNIETAM' is coded as 'INTIMATE'. How will ' TREVNIETARBI' be coded?

A)INVERTIBARTE B)INVERTIBRATE
C)INVERTIBRETA D)INVRETIBRATE
Answer Key : B Your Response : B (Correct)

Question No. 60
30 faeq & 999 Y, ST HHT H 9o FES (?) F TH W™
A & T Hafead 39 el

144\ 49\ 36 25 \
529 196 2 42
961\'256\”121 58

A) B)

34

C) D)




Choose the alternative that best replaces the question mark(?) in the

given figure.
\144\ 49 36 25
529 196 ? 42
961 256121 58
A) B) 30
34
0) D) 25
32
Answer Key : D Your Response : Not Answered

Question No. 61

39 G IoH F gl St A U AT e & wA Haer SR g

&S ; 9Er
A)fseelr : cerer B)AaRAT : ATeR
C)oie} : &Ala D)gar : T

Choose the pair in which the words show the same relationship as in the pair given below.

Cholera : Water

A)Cat : Plague B)Malaria : Mosquito
C)Poison : Death D)Medicine : Disease
Answer Key : B Your Response : B (Correct)

Question No. 62

few arw Aofr & srera wewr A A
12, 18, 27, 42, 62, 87

A)18 B)27
C)42 D)87

Find the wrong number in the given series.




A)18 B)27
C)42 D)87
Answer Key : A Your Response : D (Wrong)

Question No. 63

RA@d & ¥ ST 1 mA T AT & T &7
A)103 A B)103 A
C)106A D)106 A

Which of the following is equal to a measurement of 1 mA?

A)102 A B)10% A
C)108A D)106 A
Answer Key : A Your Response : A (Correct)

Question No. 64
P, Q 3R R & #e7 @t waer: 15, 20 3R 30 R F q@ & aha &1 SFER FH F STedl T WA H
T o7 A Fedl &Y T FH W @ FH hiell T &1 399 & Pt T [eheq Ta@ 307 2
A)IT & PQ I QR B)QR
C)RP D)PQ

P, Q and R can do a work in 15, 20 and 30 days respectively. The contractor decides to put any two of them
on the job so as to finish the work earlier. Which of these choices is the best?

A)Either PQ or QR B)QR
C)RP D)PQ
Answer Key : D Your Response : D (Correct)

Question No. 65
P 3R Q, 120 AR F T&F FeamR AR F ARE IR T g § A TR & 20 ey fAee iR 12 ey
fAere 1 a1 ¥ v Wy dlser gF = §1 T R Rigalt W ek
A)2 B)1
C)4 D)3

Around a circular track of 120 m, P and Q start running simultaneously from the same point in the same
direction at 20 m/min and 12 m/min. At how many points will they meet?

A)2 B)1
C)4 D)3
Answer Key : A Your Response : B (Wrong)

Question No. 66
sin(180° - 8) cos (90° - @) - cos (180° - 6) sin (90° - 6) =T AT AT HITATI
A)cos 6 B)1
C)tan 6 D)0

Find the value of sin(180° - 8) cos (90° - 8) - cos (180° - 8) sin (90° - 6).
A)cos 6 B)1

C)tan 6 D)0
) W o e O W s . T 4




HAEH TH gl
A)&as B)sTaY
C)3radeh ®her D)gterr

Mushroom is a/an-

A)Fungus B)Animal
C)Slime mould D)Plant
Answer Key : A Your Response : A (Correct)

Question No. 68

et $r 3ufRAfy F1 9dieror e F AT 3RET Fr 39T BHFAr S g
A)adr B) faerfaa

C)NE=T D)Terd

lodine is used to test the presence of in food.

A)Fat B)Vitamin

C)Protein D)Starch

Answer Key : D Your Response : B (Wrong)

Question No. 69
el Sec &M hr 3T 4 Bralr =il § 3R oI5 3R 73 Sch &1 2 TFel = & a1g, 98 &% 3 {3 ¢
3R 5 el werdr §1 aF Yo g & o fewr # @ 87
A)gTaror giges B)3ccR ufea#
C)3ceR & D)afaror g

Anitha walks 4 km towards north direction and turns left. After reaching 2 km, she turns right and walks 5 km.
Which direction is she standing from the starting point?

A)South west B)North west
C)North east D)South east
Answer Key : B Your Response : B (Correct)

Question No. 70

eafer ST T IAH FE W AR F=ar 82
A)TEg I IoTaCdr B)a¥d # @
C)a¥q &I d D)a¥q &I &uel I & TIT TP oo

The amplitude of the sound wave depends on the-

A)Obiject's quality B)Object's material
C)Object's temperature D)Force with which an object is made to vibrate
Answer Key : D Your Response : Not Answered

Question No. 71
P, Q3R R # 3g 4: 7: 9 F i & §1 8 a¥ wgel, R & 31, Q F FooTT I & TR Y| FoA=T 7
3T A FT AT frcaT 87
A)50 B)80
C)100




Ages of P, Q and R are in the ratio 4 : 7 : 9. 8 years ago, the age of R was Q's present age. What is the sum
of their ages at present?

A)50 B)80
C)100 D)60
Answer Key : B Your Response : Not Answered

Question No. 72

& AT 7 9RT & AT AdF ot arem g fhehey Reafaf@a 7 & Sl ar?
A)TITelT AT B)&Iue eiereT
C)e1ed &g D)gRex AT

Who among the following was the first cricketer to score a century for India in a test match?

A)Lala Amarnath B)Deepak Shodhan
C)Hanumant Singh D)Surinder Amarnath
Answer Key : A Your Response : A (Correct)

Question No. 73

aifsar v SAd &, S F yefad Fr &
A)TE B) %8
C)arE D)HARETSEH

Arthritis is a disease that affects the-

A)Kidneys B)Lungs
C)Joints D)Brain
Answer Key : C Your Response : C (Correct)

Question No. 74

T 1w Reredt F & Iera A oAl
A)159 B)177
C)121 D)153

Find the ODD one out from the given options.

A)159 B)177
C)121 D)153
Answer Key : C Your Response : C (Correct)

Question No. 75
4% 3R 6% F oM W FRr avg F TRh it & e TR F AR .3 §1 & sy Hedl U gar #
A)52 : 53 B)51 : 53
C)52 : 55 D)51 : 52

The cash difference between the selling prices of an article at a profit of 4% and 6% is Rs.3. Find the ratio of
the two selling prices.

A)52 : 53 B)51:53

C)52:55 D)51: 52

Answer Key : A




What is the power of a lens whose focal length is 1 m?

A)1D
C)3D
Answer Key : A

A)81
C)70

B)2D
D)4D

Your Response : B (Wrong)

Question No. 77

ar WEA? 4 : 5 & 3T ¥ §| 3T A.H/A(LCM) 180 §| 3T AT A Aforw

B)90
D)72

Two numbers are in the ratio 4 : 5. Their LCM is 180. What is their sum?

A)81
C)70
Answer Key : A

Aoft & qot il

168, 151, 134, 117, (.)
A)82
C)95

Complete the series.

168, 151, 134, 117, (...)
A)82

C)95

Answer Key : D

ffaf@a 7 & =i a1 &R 7147 82

A)KOH
C)NaOH

Which of the following is NOT a base?

A)KOH

MINTL~MNL]

B)90
D)72

Your Response : Not Answered

Question No. 78

B)97

D)100

Your Response : D (Correct)

Question No. 79

B)NH,4OH
D)C,HsOH

e

B)NH4OH



Question No. 80
e Hifae: sin (A + B) sin(A - B)
A)sin® A - sin> B B)cos® A - cos® B
C)sin® A + sin? B D)cos 2A

Simplify: sin (A + B) sin(A - B)

A)sin? A - sin* B B)cos? A - cos’B
C)sin2 A + sin? B D)cos 2A
Answer Key : A Your Response : A (Correct)

Question No. 81
Pfaf@a & ¥ @i a1 gew gfcadl 7 &7 T IS Har 872
INGIEHEE) B)FaRITher
C)gRar D)9r=ir

Which of the following component imparts green colour to leaves?

A)Nitrogen B)Chlorophyll
C)Urea D)Water
Answer Key : B Your Response : B (Correct)

Question No. 82

selifeiar W3St T TEfAE g A §?
A)CaCl, B)CaOCl,
C)CCly D)Ca(OH),

What is the chemical formula of bleaching powder?

A)CaCly B)CaOCl,
C)CCly D)Ca(OH);
Answer Key : B Your Response : B (Correct)

Question No. 83
P 3R Q T arr e fner @ @ 30 R& & @ &% @ §1 Q 3R R wF Ay e 38 #1924
fGat & a% ¥aa 81 R 3Rk P A v @y Aee 36 & @ qU e 7 20 e @ 39 Wl Y wE anr
et 3T FoT A QW FA A Faa e Fw@Er?
A)25 B)8
C)15 D)16

P and Q together can complete some work in 30 days. Q and R together can do the same in 24 days. R and
P together will take 20 days to complete it. If they all work together, in how many days will the job get done?

A)25 B)8
C)15 D)16
Answer Key : D Your Response : B (Wrong)

Question No. 84

P 3R Q & & sua@ # 5 13$mﬁﬁmTM|Qﬁ6maﬁmTyﬁmaﬁluﬁm




P and Q invested in a business in the ratio 5 : 13. Q withdrew his capital after 6 months. If they shared their
profit in the ratio 25 : 26, for how long was P's amount used?

A)18 months B)12 months
C)8 months D)15 months
Answer Key : D Your Response : D (Correct)

Question No. 85

RrfAf@d el F T A 9¢ AR Y Be v woaT #F 3o/ I

s - A, B, C, D, E, F, G 3R H t& @R AF & IRI 3N Fridayg g 38 §1 30091 § & 15 W
eI, ofthet S w76l o e e A A

A TS §iS THE FN are SAfed & & 3N Ay VI W doT §1 A T 5 TR §is THg 76 §1 E, H &
SF B AT T C, AT F WA B IR JoT g A s R s Mg S Fdr AR T & H
3N I ST §i THE A ¢l AT 75 TG FeT qrer AT el F1S THG e At AfFT F AT
T F TG T §1 S ST SR s F THG T § 9@ E & 1% 3R g T WV o7 §1 3 w5 v
A aren cafad Yamifae 3R dicad §is 9dg e e gl SAfFadl & THeH 9T A SoT §1 dieew §is
THG A arel SAfed B & &g 3N Y T 9T ST §1 B 30fAsT s qwe € Far §1 F, A & S qorer 7
& YT §1 G 39 AT F UheH T9TT & AT Jof & i et i FI GG T §1 diec i GHE P&l arel
afFa 3R H & T Faer & o §5 €1 e afFaet a1 3if@er 3k 39w iz e § 9 vEeEy F R
TITer H I3 E

Arfaf@d & ¥ ST A F tFeH s 3N Yor &2
A)D B)H
C)G D)B

Read the following information carefully and answer the question given below.

Eight friends—A, B, C, D, E, F, G and H are sitting around a circular table facing the centre. Each one of them
likes different brands of air conditioner—Daikin, Samsung, Blue Star, Godrej, Onida, Panasonic, Voltas and
Whirlpool, but not necessarily in the same order.

A sits third to the right of the person who likes Whirlpool. A does not like Blue Star. E is not an immediate
neighbour of H. C sits on the immediate right of the person who likes Blue Star. Neither A nor H likes Onida or
a Samsung. The person who likes Onida is not an immediate neighbour of the person who likes Whirlpool.
The person who likes Daikin sits second to the left of E. The person who likes Daikin is an immediate
neighbour of the both persons who like Panasonic and Voltas. Person who likes Voltas sits third to the right of
B. B does not like Onida. F is not an immediate neighbour of A. G is not an immediate neighbour of the
person who likes Daikin. Only two people sit between the person who likes Voltas and H. The persons who
like Onida and the Samsung are immediate neighbours of each other.

Who among the following sits on the immediate right of A?
A)D B)H
C)G _______ ___ _D)B

- Y/
i)  /



T oISH TF Tolchll W TT ¢ 3R 3ol usr & anr 3:45 7 §HY q@ar §1 e arer gS qd #r AW e
el § AR AeTe arelr g§ aRRaer A $fa st &1 asar fra Rrm #r 3k g 5 @sr 2

A)gfaror qg B)q&

C)3er D)afaor afes

A boy is standing at a platform and sees his watch showing 3:45 PM. The hour hand points east and the
minute hand points west. Which direction the boy is facing now?

A)South east B)East
C)North D)South west
Answer Key : C Your Response : D (Wrong)

Question No. 87
AGET F TR ST Aol GE aAfOF TR ded P A E?
A) 3iTerdrsTet B) 3T
C)uegaer s D)fafarsra

N

The second most abundant element in the earth’s crust is-

A)Oxygen B)lron
C)Aluminium D)Silicon
Answer Key : D Your Response : B (Wrong)

Question No. 88

AT Sl W4T A AR & &9 F e wwel & s9der R S 8, S sggle @ e el § 3R s

fsa & AT sugea sand 82
A)aRTT B)sdiforae
C)Raforenier D)JwIse

Which material is used as a moderator in a nuclear power plant that slows down the neutrons and makes
them fit for causing fission?

A)Boron B)Beryllium
C)Silicon D)Graphite
Answer Key : D Your Response : D (Correct)

Question No. 89

e 'THRASH' &I 'UGSZTG' for@ar Jrar &, ar 'HEAD' &I 3 forar sem?
A)IDBC B)IECD
C)GDzC D)GDBC

If ' THRASH' is coded as 'UGSZTG', how will 'HEAD' be coded?

A)IDBC B)IECD
C)GDzZC D)GDBC
Answer Key : A Your Response : A (Correct)

Question No. 90

AT RITT o  ROO i/



A) B)

or
or
bo
UII

C) D)

Simplify: J25+10\f(_3 + \/25 -104/6

A) B)
M) 2f i5
C) D)
50 215
Answer Key : B Your Response : C (Wrong)

Question No. 91

farfaf@a Aot & 3R F Toa g A AT

Bz, DV, ES, HN, JJ
A)ES B)BZ
C)HN D)JJ

Find the wrong group of alphabets in the following series.

BZ, DV, ES, HN, JJ

A)ES B)BZ

C)HN D)JJ

Answer Key : A ' - . — Your Repf)nse:A(Correct)

=~ /




Aol & Qo |

1, 3, 7, 15, 31, (.)
A)127 B)63
C)47 D)39

Complete the series.

1,3,7, 15,31, (...)

A)127 B)63
C)47 D)39
Answer Key : B Your Response : B (Correct)

Question No. 93
Arfaf@a & ¥ sl @ 3G, aweaa: Afhd 38RE fr sufeafa & gawfa daf & aEsioeetor d
3qANT Fr ST &2
Ayufararger sfRfRar B)TeTcAS 3TAThar
C)3iTergreor 3ifRfsrar DT fafwar

Which of the following reactions is commonly used in the hydrogenation of vegetable oils using a nickel
catalyst?

A)Substitution reaction B)Addition reaction
C)Oxidation reaction D)Displacement reaction
Answer Key : B Your Response : Not Answered

Question No. 94
I FIg TFG AT T YE N & AN I Wegper ofr wdor a7 &), ar F=4r &I &2
A)YTET T FET Toh Hehcll| B)a¥d qd T Sl gl
C)atd $& TAY ¥ & Sl gl D)a&q 35 F9Teh &

If an object starts moving and if there is no friction at all, what happens?

A)The object can never stop B)The object stops immediately
C)The object stops after sometime D)The object starts flying
Answer Key : A Your Response : A (Correct)

Question No. 95
HRAN dfeee & Ffaf@a & F Sl a1 AT Fnfaa ugelt F &t 872
AT VIII B)aTeT VI
C)errT IV D)eTrT IX




C)Part IV D)Part IX
Answer Key : A Your Response : C (Wrong)

Question No. 96
e HeTeeT I 10% A T W 3 a¥ F Uehgle SAeT 3R ATELRT SAST HT IHeR .620 gram?
A)%.24000 B)¥.25000
C)%.20000 D)%.18000

On what principal will the difference between Compound Interest and Simple Interest at 10% rate in 3 years
be equal to Rs.6207?

A)Rs.24000 B)Rs.25000
C)Rs.20000 D)Rs.18000
Answer Key : C Your Response : Not Answered

Question No. 97

Wﬁmmtw,warﬁmmmwwﬁmaﬂ#qgﬂw%l AHART: PRI do

Tga & W frae fiee st €2
A)60 TeTe B)30 A=
C)42 fiee D)45 fieic

Travelling at 3/4 of the normal speed, a person reaches his workplace 15 minutes late. How many minutes
does he take usually to reach the workplace?

A)60 minutes B)30 minutes
C)42 minutes D)45 minutes
Answer Key : D Your Response : B (Wrong)

Question No. 98

3W AGIT # TG HY, St Featr@a AT & i F e @
Tafead &1 ¥ A%RT FT &l
Teslr, AHiTa, 9, T

A) B)

c) D)

Choose the figure that best represents the relationship among the
classes given below.
Vegetable, Woman, Lion, Parrot




A) B)

C) D)

Answer Key: C Your Response : C (Correct)

Question No. 99

dderssw 3R uiFerssw Fr oY g ST Bl
AR B)d#AT dcd
C)31iaRe THHAUT ded D)HHHUT dcd

Lanthanides and actinides are also called

A)Noble gases B)Normal elements
C)Inner transition elements D)Transition elements
Answer Key : C Your Response : D (Wrong)

Question No. 100
420 =T 4/797 REdT, 200 F 3/50 foT § Frcawm S 72
A)80 B)60
C)120 D)90

By how much is four-sevenths of 420 exceeds three-fifths of 200?
A)80 B)60
C)120 D)90

Answer Key: C Your Response : C (Correct)




